
正負の数 乗法１ (Pr.No.112CーA)
解答編

Ⅰ．
① ６
② －８
③ －３
④ ３５
⑤ －６
⑥ ８
⑦ ２４
⑧ ３５
⑨－１０
⑩－１０

⑪－２８
⑫－２８
⑬－１８
⑭－１８
⑮－４０
⑯ －６
⑰ ２
⑱ ２
⑲ －２
⑳ －２

Ⅱ．
①－５６
②－５４
③－２４
④－４２
⑤ ２４
⑥－１４
⑦－７２
⑧－３５
⑨－２８
⑩ ２４

⑪－４２
⑫ ４５
⑬ －９
⑭ ３６
⑮－６４
⑯－４８
⑰ ８１
⑱ ８１
⑲－８１
⑳－８１

Ⅲ．
①－１４
②－３６
③－４８
④－１８
⑤ ４
⑥－３５
⑦－２４
⑧ －７
⑨ －４
⑩ ４０

⑪ －７
⑫ ３６
⑬ －８
⑭ ５４
⑮－４０
⑯－４２
⑰ ４５
⑱ ３６
⑲－１８
⑳ －９

正負の数 乗法２ (Pr.No.112DーA)
解答編

Ⅰ．
② ０
② ０
③ ０
④ ０
⑤－２８
⑥ １２
⑦－１１
⑧ １３
⑨ －９
⑩ ３０

⑪－１３５
⑫－１３５
⑬－１０４
⑭ー１４
⑮－１２８
⑯－９８
⑰ ９９
⑱ ９１
⑲－１８
⑳－７６

Ⅱ．
③ ４０
② ９０
③ ５６
④１０５
⑤ ４５
⑥ ４０
⑦ ８４
⑧１１２
⑨－９６
⑩－６０

⑪ ８
⑫－１２
⑬ １８
⑭ ３５
⑮ ８
⑯ ２１
⑰－１２
⑱ ０
⑲－３０
⑳－１８

Ⅲ
①－４２
②－４２
③－１８０
④－１８０
⑤ ７２
⑥－６５
⑦－９０
⑧ ９２
⑨－１２
⑩－８２

正負の数 乗法３ (Pr.No.112EーA)
解答編

Ⅰ．
①（－５）×（＋４）×（－２）＝１０×４＝４０
② －９×（－５）×２ ＝９×１０＝９０
③（－１０）×９×３ ＝－１０×２７＝－２７０
④ ２×（－８）×５×３ ＝－２４×１０＝－２４０
⑤ ７×（－５）×０×２ ＝０
⑥（－１）×（－１） ＝１

⑦（＋２）×（－３）×５ ＝－３×１０＝－３０
⑧（－４）×５×（－２） ＝４×１０＝４０
Ⅱ．
①(＋３)×(－１)×(＋１)×(＋２)＝ー６
②(＋５)×(＋７)×(－１)×(－２)＝７０
③(－２)×(＋３)×(－８)×(＋５)＝２４×１０＝２４０
④(－４)×(－２)×(－１)×(＋２)＝ー１６
⑤(－３)×(－８)×(＋９)×(－２)＝－４３２
⑥(＋５)×(＋７)×(－７)×(＋４)＝－４９×２０＝－９８０
⑦(＋５)×(－２)×(＋２)×(－５)＝１０×１０＝１００
⑧(－７)×(－３)×(－２)×(－５)＝２１×１０＝２１０
Ⅲ．
①(＋４)２ ＝４×４＝１６
②(－４)２ ＝（－４）×（－４）＝１６
③ －４２ ＝ー ４×４＝－１６
④ ４２ ＝４×４＝１６
⑤(＋５)２ ＝５×５＝２５
⑥(－５)２ ＝（－５）×（－５）＝２５
⑦ －５２ ＝ー ５×５＝－２５
⑧ ５２ ＝５×５＝２５
⑨(＋４)３ ＝４×４×４＝６４
⑩(－４)３ ＝（－４）×（－４）×（－４）＝－６４
Ⅳ．
① －４３ ＝ー ４×４×４＝－６４
② ４３ ＝４×４×４＝６４
③(－７)２ ＝（－７）×（－７）＝４９
④－(－７)２ ＝ー（－７）×（－７）＝ー４９
⑤(－３２)×(－２)３＝(－３×３)×(－２)×(－２)×(－２)＝(－９)×(－８)

＝７２
⑥(－４)２×(－５)＝（－４）×（－４）×（－５）＝ー８０
⑦(－２)２×(－１０)３ ＝(－２)×(－２)×(－１０)×(－１０)×(－１０)

＝４×（－１０００）＝－４０００
⑧(－１)８ =1 (１は何回かけても１）（ーを偶数回かけると＋)
⑨(－１)１９×(＋１)２７ ＝（－１）×１＝ー１ （ーを奇数回かけるとー）
⑩(－５)２×(－２)２ ＝（－５）×（－５）×（－２）×（－２）＝１００


